normalized X?

[ normalized x? probability |

e ] [ cmzpob ]
Entries 188990 F Entries 188990
1] - Mean 1.086 N N . N N . |Mean 05189
10 H . Std Dev 1.261 * - | Std Dev. 0.315
PR |
chi2 CHZ mo
10,2 | Entries 183951 Entries 183951
E Mean 1.013 = | Mean 0.5568
E Std Dev 0976 Std Dev 03135
I e Y T
1073 E Entries 183951 . [Entries 183951
F Mean 1.013 Mean 0.5568
F Std Dev Std Dev 0.313!
107F 0.02
10°F 0.01
o1079 o 10
K : F 14 R
24 . . . . . 4 : -{“
. IR, . . 5 1‘
0.5f--1- - -
. ; . : 09 .“ﬂ ‘IWI"'M M’i boodend
R 3 o - o .
0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
x? Prob(x?)

R SR S s SN S

< x2/ndf >

1.6}

1.4/ - | === DQM_v0001_R000000001__Global__CMSSW_ckfnocut3_RECO
4 | = DQM_v0001_R000000001_Global_ CMSSW_mknocut3_RECO
1.2~ —DQM \/0001 ROOOOOOOOl Global CMSSW_mknuculinuc\eanS_RECO

Ratio

< x2/ ndf >
5
o

< X2/ ndf >
N
00

4 1.6]
3.5 1.4
3| 1.2

N
ul
T
=R BN UL T < - B

2-F---- 0.8
15F 0.6
3 0.4
0.5F 0.2
o +0f e 9
e ¢
0.5
0.8 o
0
10 107 107?

-1
AR(track, jeltS)



	Contents
	Page 1


